wioa-autjuorfemFamm, sdny

http://'www_jiwajionline.com

O—-2364/N-16

M. Com. EXAMINATION, 2016
(First Semester)
COMMERCL
Fourth Paper

Statistical Analysis

Maxinmmum Marks - 85

Minimum Marks - 29

Time - 3 Hours

Note : Attempt all questions from each Section.

T% @ve % Ot v & IW S

Section A 5x5=25
gug ‘I’
(Short Answer Type Questions)
(¥ ITIT 99T )

1. Define Regression.
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Or (3te4r)

Distinguish  between interpolation  and

extrapolation.
AROUHE TE Ao § 3 SIS |
What do you mean by Association of Attributes.
T wEY & oFn s g 2

Or (3rear)

What is the Chi-square (x2) test of goodness

of fit 7

HESA-IhRAl HT FR-I1 Tl wifsw |

What is meant by theoretical frequency

distribution. .

dgfaes e famwm =1 @ e # 2
Or (3¥ET)

Define Probability.
aifgea &t oftwfem &R

2

http://'www_jiwajionline.com

woa-aupuotemiFsamm, s ding



wioa-autjuorfemFamm, sdny

4.

h

1. The age of mother and the average number of
childrea born per mother are given in the table

below. Interpolate the average number of
-3HN)-2364/N-106 3 P.T.O.
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What do vou understand by standard error 7

g fawm H W Fn A ' 4
(Jr (397n)

What do vou understand by a test ol

sigmflcance

sk

MAEA T R oAM wm wwwd #

What 15 analysis of vanance ?

warmm # faywm 3 owva €7
(Or (3raarn)

What do vou understand by a test of

significance ?

wewA TAEM ¥ wg wn omuwd ¢ )

Section B 12x5=60

gyvy ‘¥’
(Long Answer Type Questions)
(& 3wdfim gy ),
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children born per mother age 30-34.
Age of Mother in Years No. of Childryy

15-19 0.7
20-24 21
25-29 3.5
30-34 ?
35-39 3.7
4044 5.8

= anoft § W &t g den wfa Hr

T=5i =7 airmd fear om@m ®  30-34 = 5

3q Al Wfa W@ ® S A F
fAsmerm | http/fwww jiwajionline.com

AT @ g ANt W "=l @t W

15-19 0.7
20-24 2.1
25-29 3.5
30-34 ?

35-39 5.7
40-44 5.8

Or (3var)
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What is Regression ? Why are there in geuerdl
two regression lines ? When do they coincide ™
TR T ¢ ? W & W A
?ﬁfﬁ??ém@-@ﬁgﬁmﬂ'
g2
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I'wo hundred digits were chosen at randum
from a set of tables. The frequencies of the
digits were -

Total

Digit 01 23 456 7 8 9

Freguency: 18 19 23 2] |6 25 22 20 21 15 200
Use %2 test to assess the correctness of the
hypothesis that the digit were distributed o
equal numbers in the tables from which they

were taken.

AU % UH AY=ad 4 dgwsd 200 fsfwe
(FAF) T ™ | HF F qCERE A .
3w 0 1 23456 78 9 Total
FRARAT ;18 19 23 21 16 25 22 20 21 15 200
gt 9 3] 1 famw guE demsi § e
T Al SR A F R M Q) 3w syme
HOYE O W9 2?2 wem o owm Q

FIFTY |
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Or  (3terar)
Explain the . '
: p concept of (i) complete association
(1) partial issociati
p | association (i) complete dissociation
and (iv) independence so as to make the

difference between them clear.

() 9 7T =y (i) wrifers TV HEY (i)

TOTAE
Explain the concept of independence and

mutually exclusive events in probability. State

theorems of total and compound probability,
wiasa d Ead T UREE saEsi e
# faar = gz o am @ fmiss s
3 wHE F Io@ Hifau |
Or (3¥ar)
(8) Write a critical note on the role of normal
distribution in statistics.
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M Define the
(t efine the Minomual distnbution Np - o)
T v i
1454 < ' :
=D SO 1At s Mean s np oand stan tard
. < »LATHRIA

deviaton | NG

| el —-,'—.r‘—" -
aSS AT Np -1 Fm rfnnies soten
=ET T —
-‘u ol —— T —— — —
gy g = g oF YRR TET] T
‘____-_‘ — .
EERE ar s

vhog  F

4. Descenbe the basic COnCepts of samphing theon.

Explain practical uses of sampline.
FEIEE ST TS

Ja¥iT =

MRUNI & =9

s=Epiloe ANGH W] {EIEEY

Or  (3gET)

From a sample of pea plants the number of
round peas is 336 and the number of angular
peas 1s 0L Is this in agrcement with the
Mendelian theory which savs that the m erage

the ratio of round to angular peas is 3 - | 2
TR OF U ¥ R oW W = g 13
T T W@ 0l FRER ZH WS TR | s

ﬁ'g Qﬁuﬂ-‘q qhﬁ’?iq:l I-;I\'QF:EI f‘. riﬂ ‘f.mq':'l %
fags s ME wW FTR O = oo
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5. Whast do you understand by f-lest bashe
F-test 7 Indicate some practical appliication
hese [est
(-Taern Awn ey ® O F-WIWT WS
™ TN ® ®B SEriiE T

repar I

Q0154 i

() (39T )

Explain the terms

(1) Degree of frecdom
(11)  Level of sigmificance
{1} Null hvpothesis

(1) ERA= #{7

(1) TEFT =T

(ii1) ¥ WmET
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